12 OO0O0O0O0O0O0

12.1  f(z(t),y(t)) 00O

00 12.1 00 f(z,y) 0 C-00000000000 f,f, 0000
000000000000000

00 12.1 (0DOO p.180, 00O 5.5)
z=f(z,y) 0 C-000z=2z(),y=y(t)0 t 0000000000
O0z=f(z(t),y()) 0 t 0000000000

% = Fula(),y(0)a(t) + f,(x(t), y(t))(t)

0ooooo
00 00 2(t+h)—2(t) 000000
Z(t+h)==(t) = f(x(t+h), y(t+h)) = f(x(t), y(t+h))+f(@(t), y(t+h)—f(x(t), y(t)) = [+11
0000 I000000y(t+h) 0000000 f(z,yt+h) 0 20
0000000000000 z(0)0 «(t+h) 00060000

I = f,(0,y(t+h))[z(t+h)— z(t)]

0000000000000 ()0 y(t+h) 000 ¢ 0000000
0oooo

11 = f,(x(t),0") [y(t + h) — y(t)]

00000 h—= 00000 z(t+h) — 2t),yt+h) = yt) 0000
0 —z(t),¢ »y(t) 0000000000000 f,f, 0000000
fo(0,y(t+ 1) = folz(t),y(t),  fy(x(t),0") = fy(x(t), y(t))

00000000000rR—0000

AR =0 f o)™ 4 g0 00 2D
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12.2  f(x(u,v),y(u,v)) OO0O0O0DODO0O0OO

00 12.2 (000 p.182, 00 5.6)

z=f(z,y) 0 C'O000 z=2(u,v),y=y(u,v) 0 v,o 000000
0000000z2= f(z(u,v),y(u,v)) 0 w,o 000000000000
gboboobouooooboo

0z 82@ 0z Oy 82_82% 0z Jy

du” rdu  dyou’ dv dwov  dyow
goobooooboboooo+ooooooohk—0000
r(u+h,v)—xz(u) Odr z(u,v+k)—x(u) Oz

— == —
h ou’ k ov’
doodooogogodd

0 12.1 (000 p.182, 00 5.6)
z=f(r,y) DC'OO00000O0O z,y 0 o =rcos, y=rsingd 00O
gdouououototdotuouoouoooouooa

&)+ () -G) =)
ox oy or r2 \ 06
0 O0O0000oooo f,f,00000000000000
Zp = ZpTr + ZyYr, 29 = ZzTg 1+ ZyYp
gogo
T, =cosl, y. =sinf@, r9g = —rsinf, yg = rcost
goooood

22 = (22, + 2,9r)° = (2, c080 + 2, sin 0)?

= 22 cos® 0 + 22,2, cos sin 0 + 25 sin” ¢
zp = (2220 + 2,99)* = (—2,7sin 0 + 2,7 cos 6)?

=r? (zg sin® — 2 + 22,2, cosfsin 6§ + 25 cos® 0) .

gooo

1
2+ 37 = (2 + 2 (cos 0 +5in’0) = 25 + 2]
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0 12.2 r= /22 +y2+2200p(r)0 r0 C?°00000000f(x,y,2) =
p(r)y0o0o0
0? 0? 0?
L0, 0
ox?  0y*> 022
Ui boodoooooooooobn

O

REAS

fx = (;0/(71>r:1:7 fy = SOI(T) 5 fz = 90/(71);

gooo

frw = @"(r)(r2)* + ¢/ (r)ras
fyy = (P//(T>(Ty>2 + @ (r)ryy
for =" (1) (r2)* + ¢/ (1)1

O00r-00000 Pr2=22+¢*+220000

)

T 1 =z

Try =T Tp=—, Tpp=—— —,

r r rg

B Yy 1oy

Ty =Y Ty—;v Tyy—;_ﬁa

z 1 22

Ty =2 Tz;=— Tzz=— = —3,

T roor

O0o00oouoouoouoouoooo

2+ 4 22 3 a?+yP4
Jow+ fyy + [ = @II(T)T + 90/<T)(; - T)

— () + 2 0)

o0 121 000000 w00 w,ws OO0 g
(1) w=2a%; x=sty=s—t.

)
(2) w=2a*—ylogz; z=s/t,y=s.
(3) w=e"";, x=ssint, y=tsins.
(4) w=log(e +y) — log(e — y); & =te’, y = e
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